INTERMEDIATE EXAMINATION - 2024 (ANNUAL)
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Sub. Code - 320 Model Set
Time :- 3 Hours 15 minutes
3 E 15 e Philosophy (gefeme) Full Marks - 100
quries — 100
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Total No. of Questions- 100+30+8=138
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Instructions for the candidates :-

1. wRienfi OMR IR U5® UR (U1 U GRABT HHIdb (10 bl BI) e
fored |
Candidates must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

2. RIeTfT JATHEa 370+ Tl H & IR T |
Candidates are required to give their answers in their own words
as far as practicable.

3. <R el wRE W RY gy sie gie Ffde axd §

Figures in the right hand margin indicate full marks.

4. 9 U U Bl &FYad Ugd & fory wiemed o1 15 e &1 sifaRa

3 fear a7 2 |

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.
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AT YT-UH &I WUS| H T : @Us—3 U4 GUs—4 |
This question paper is divided into two sections : Section-A and

Section-B.

gue—31 H 100 RIS YA g, OFH & b=l 50 UeAl &1 SR o
JAfard 21 50 UeAl A 3Mf9d & IR T W UAH 50 BT B HAIDA
BT | Y% e & fory 1 i FeiRd 81 g7 SR o1 & oy Sucre
FRI T OMR-Sheet (STR—17®) # f4 T g F &rel /el dfd 9=

A WE B | ol ff U6R & @EeR /TR YRt /le /ARG 3
BT OMR STR—UFH H YANT HRAT FAT ©, I=JAT TR URMH 1=

BT |

In Section-A, there are 100 objective type questions, out of which
any 50 questions are to be answered. If more than 50 questions
are answered only the first 50 will be evaluated. Each question
carries 1 mark. For answering these darken the circle with
black/blue ball pen against the correct option on OMR Answer
Sheet provided to you. Do not use Whitener/Liquid/Blade/Nail etc
on OMR Answer Sheet, otherwise the result will be treated as

invalid.

Gus—g H 30 g SR U B | UP B fog 2 3 FiRa 2, fomi

3 fb=gl 15 Ul &7 SN <1 AR B | 39 ifafRed @ve—9 o 08



dH IR U W Ay U 2 U U & fog 05 i MEiRd E,
S8 | gl 4 U=l &7 ISR AT 1A 7 |

In Section-B, there are 30 Short Answer Type Questions, each
carrying 2 marks. Out of which any 15 questions are to be
answered. Apart from this, there are 8 Long answer type
questions, each carrying 5 marks, Out of which any 4 questions

are to be answered.

8. P TR & Saci=d ISRV & JINT goiaar afsid 2 |

Use of any electronic appliances is strictly prohibited.

Yus—3I / Section-A

s 931 / Objective Type Questions

9T GIT 1 9 100 db & Ydd Yo & oy IR fawpey fov v € 5999 9 s

FE B | MBI 100 YA H W B 50 ULAT BT & SR A7 B | AU R gAY
He! fdbey I OMR—3flc W fifted & | 50x1=50

Question No.- 1 to 100 have four options, out of which only one is correct.
Out of 100 questions any 50 questions are to be answered. You have to

mark, your selected option, on the OMR Sheet. 50x1=50

1. fa=foRaa § 9 59 dag o7 ardie =8 a=ar g ?
(A) gedit (B) St

(C) g (D) smrer



Charvaka rejects which one of the following elements ?
(A) Earth (B) Water

(C) Air (D) Ether

O T & ofavia R wreg T 3ref graT ® ?

(A) faorar (B) R
(C) HecaTamiel (D) s ¥ 31 T

What is the meaning of ‘Jina’ under Jainism ?

(A) Conqueror (B) Loser

(C) Aspirant (D) None of these
FrefelRad o 9 &9 A1 Usp 1Re g9 T8l © ?

(A) dig <3 (B) 99 g%

(C) AT T (D) =raf® e

Which one of the following is not a Heterodox Philosophy ?
(A) Buddhism (B) Jainism

(C) Yoga Philosophy (D) Charvaka Philosophy
IRATT G2 & AR MRS’ Wea BT 3fef B © 2

(A) STaR ¥ fqeary SR drell

(B) 9=l @1 UTHIfOehar H favard R arefl

(C) (A) &R (B) <

(D) 74 & BI1g 7l

According to Indian Philosophy, the word ‘Orthodox’ means ?



(A) Those who believe in God

(B) Those who accept the authority of the vedas

(C) Both (A) and (B)

(D) None of these

Freforiad & A fbd dlerad <29 & 9 9 ST S & 2
(A) 91 <2 (B) =i ==F

(C) @rdfep i (D) =¥ & BIg e

Which of the following is known as ‘Lokayata Philosophy’ ?
(A) Buddhism (B) Nyaya Philosophy
(C) Charvaka Philosophy (D) None of these

f=foRad & 9 @19 IR <99 & Yd<id A9 O © ?

(A) 3R (B) ®fte
(C) #ETdR (D) Sifaf

Who among of the following is regarded as the founder of Sankhya

Philosophy ?
(A) Shankara (B) Kapila
(C) Mahavira (D) Jaimini

N ON (N

qEITel’ Ud ‘Siia’ &1 ey freiforlRad #§ 9 frq s @ 7 ?

(A) dig <M (B) 99 T3
(C) 3rga dar=t (D) 9&=g g3



10.

‘Pudgala’ and ‘Jiva’ are related with which one of the following
Philosophical schools ?

(A) Buddhism (B) Jainism

(C) Advaita Vedanta (D) Sankhya Philosophy

IMTHATE B Fey fAfolRag @ 4 fow s 9 8 2

(A) IrT T (B) =g g3

(C) dig wgi (D) 57 & B 7

No-soul theory is associated with which one of the following
Philosophy ?

(A) Yoga Philosophy (B) Nyaya Philosophy

(C) Buddhism (D) None of these

Iraie gRT fAeforRad d I fbd T @l sRdieR fhar mar g ?

(A) gcgeT (B) ®mH

(C) et (D) 37 & g &I
Which one of the following is rejected by Charvaka ?
(A) Perception (B) Kama

(C) Moksha (D) None of these

§€ @ gRI [hd" UPR & IR I B WHR fbar 71 g ?
(A) TP (B) <1
(C) (D) =

How many types of Noble truth are accepted by Buddha ?



11.

12.

13.

14.

(A) One (B) Two

(C) Three (D) Four
S &3 fawar @Rar ©

(NEREISEICE (B) wIrgarg #

(C) (A) 3R (B) eI # (D) 5% | ®IS &

Jainism believes in

(A) Anekantavada (B) Syadvada

(C) Both (A) and (B) (D) None of these
fFrfeiRad & 9 @19 a1 gourt § afffad g 2

(A) &4 (B) aref

(C) & (D) SWRIad |4
Which of the following is associated with Purushartha ?
(A) Dharma (B) Artha

(C) Kama (D) All of the above

Freforiad § | @19 91 Ue AR & @1 g Upld 2 ?

(A) smefeass (B) Tmapferen

(C) wa=nfie (D) s & ®1g &l

Which one of the following is the basic nature of Indian Philosophy ?
(A) Spiritual (B) Natural

(C) Psychological (D) None of these

fr=forRaa & & 19 o & sifRaa & fagarg 8 &ear g ?



15.

16.

17.

(A) = g2ie (B) | <3
(C) =mafed <o+ (D) 37 & g &I

Which one of the following does not believe in the existence of Soul ?

(A) Nyaya Philosophy (B) Sankhya Philosophy
(C) Charvaka Philosophy (D) None of these

(A) IRAT <4 ¥ (B) ureaTd <A |

(C) (A)Td (B) <l (D) 379 & @18 el

The concept of Rta is related to :

(A) Indian Philosophy (B) Western Philosophy
(C) Both (A) and (B) (D) None of these
fFefeiRad o 9 &9 &1 U& faww © ?

(A) T <=+ (B) | T
(GENIEEANE (D) 59 =3+

Which one of the following is the odd ?

(A) Yoga Philosophy (B) Sankhya Philosophy
(C) Vaisesika Philosophy (D) Jainism

& & A<ifiie ant § aMferd §

(A) T 3fte (B) =R e

(C) I=Ia, a1 (D) SR Wy

Eightfold nobel path of Buddha consists of :



18.

19.

20.

(A) Right views (B) Right resolve

(C) Right speech (D) All of the above

AR T & JJAR FeEferfad § 4 &I 1 faeivdn gepfa o 781 € ?
(A) Tfer wadis ®

(B) Ui fawg & FART agell &1 7ot SR 3

(©) v P

(D) ygfer el &

Which one of the following is not a characteristics of Sankhya’s
Prakriti?

(A) Prakriti is independent

(B) Prakriti is the root-cause of the world of objects.

(C) Prakriti is eternal

(D) Prakriti possesses the quality of Consciousness
3T ARTART &7 Siferd A @

(A) TATER (B) &rom

(C) & (D) wfey

The final step of Astanga Yogamarga is

(A) Pratyahara (B) Dharana

(C) Dhyana (D) Samadhi
FrefeiRad o 9 fhd siic[ad <29 @ M | 41 ST oIl © 2

(A) P <24 B (B) = €3



21.

22.

23.

(C) IRT T2 Bl (D) 9 &3 Bl
Which one of the following is also known as Aulukya Philosophy ?
(A) Vaisesika Philosophy (B) Nyaya Philosophy

(C) Yoga Philosophy (D) Sankhya Philosophy

R &I @ AR o YHR & YA WhR Y 7T § ?
(A) TP (B) <1

(C) (B) TR

How many kinds of valid means of knowledge has been accepted by

Nyaya Philosophy ?

(A) One (B) Two

(C) Three (D) Four
i o1 dey 8

(A) ITeT A (B) SrgATT &
(C) SwT & (D) ¥z &

Vyapti is related to

(A) Perception (B) Inference

(C) Comparison (D) Verbal Testimony
A & AR F=feiRad & 9 39 oA & UaR ¢ °?
(A) gdad (B) 3rvaq

(C) ArIdIge (D) SURIG AT

According to Gotama, which of the following are kinds of Inference ?
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(A) Purvavat (B) Shesavat
(C) Samanyatodrista (D) All of the above
24.  T@Ei® & gRI FHERIRGT 9 | B9 |1 YA WIBR {HA7 1 § 2

(A) GT&T AT (B) STHI YHTOT
(C) wreg yATIT (D) SUHIE YHATOT

Which one of the following Pramanas has been accepted by

Charvaka?
(A) Perception (B) Inference
(C) Verval Testimony (D) Comparison

25.  HHNT—{YF & R DI § ?
(A) B (B) wifaf
(C) R (D) 7R
Who is the writer of Mimamsa-Sutra ?
(A) Kapila (B) Jaimini
(C) Shankara (D) Mahavira

26. RINEG T & ITAR FA UM I W= &

(A) U= (B) ©:

(C) @ra (D) 3rme

According to Vaisesika Philosophy the total number of Padarthas are
(A) Five (B) Six

(C) Seven (D) Eight
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27.

28.

29.

30.

I &3 FfaRad 9 9 fhd HUS™ &1 TEaHHaT & WIHR Bl © 2
(A) RIS <2 (B) Wi wfA

(C) T =3[ (D) 9 T3

Nyaya Philosophy accepts the metaphysics of which one of the
following schools ?

(A) Vaisesika Philosophy (B) Sankhya Philosophy

(C) Yoga Philosophy (D) Jainism

AHR B AR FfeiRad # | D9 UHAH 9q & 7

(A) ST (B) mra

(C) 5= (D) 3% & B TE

According to Shankara which one of the following is the only reality ?
(A) God (B) Maya

(C) Brahman (D) None of these

fFrfalRad 5 9 B SeaR & IR B WIHR ol 7 ?

(A) IRT S (B) @mai® &3

(C) (A) wd (B) gl (D) SWRIad |

Which one of the following accepts the existence of God ?
(A) Yoga Philosophy (B) Charvaka Philosophy

(C) Both (A) and (B) (D) All of the above

PR B FIAR, S DI AT 8

(A) uferwRis (B) SmagIR®
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31.

32.

33.

(C) urHTfRf® (D) &7 & BIg el
According to Shankara, the reality of the world is

(A) Apparent (B) Empirical

(C) Absolute (D) None of these
fFrefeiRad o 9 @19 gfgardl § ?

(A) i (B) abet

(C) Sprel (D) &g

Who among the following is a Rationalist ?

(A) Locke (B) Berkeley

(C) Descartes (D) Hume
ffeiRad # & B SeTTd ygare & |wdad € °?

(A) BIoE (B) gdel
(C) e (D) Regsiram

Who among the following is a supporter of subjective Idealism ?

(A) Kant (B) Berkeley

(C) Descartes (D) Spinoza

TP BT AT—IRR & AT ¥ =foRad 5 9 o9 @1 g g ?

(A) gfgarg ) EREERIEIE

(C) rgHaarg (D) ESKIRINSECIE

Mind-body relation as per Descartes is known as ?

13



34.

35.

36.

(A) Rationalism (B) Interactionism
(C) Empiricism (D) Parallelism

IMaaTd] SR FforRad @ 6 geR 9 @ Uit &xd & ?

(A) 3fE & gRT (B) THIRA & §RI
(C) Sfeal & g (D) fas= & gw
How Empiricist Philosophers acquire knowledge ?

(A) Through Reason (B) Through Logic
(C) Through Sense Organs (D) Through Science
(A) Ra=IST &1 (B) mgdfTest &I

(C) <P &1 (D) & &1

“Monad is Windowless” - This statement is related to
(A) Spinoza (B) Leibnitz

(C) Descartes (D) Locke

i & AR, FfeRad § | @9 & & 0T & bR T8l § ?

(A) et 7T (B) SuTT

(C) fst g (D) s I 31 T

According to Locke, which one of the following is not a type of quality
of the substance ?

(A) Primary Qualities (B) Secondary Qualities

(C) Mixed Qualities (D) None of these
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37.  SRIPT & oD ©
(A) ferirsm (B) arf
(C) & (D) Brve
The writer of ‘Ethica’ is
(A) Spinoza (B) Descartes
(C) Hume (D) Kant
38. “Fdemaa fvererd v — Frefeiad | 9 69 ve RIS &1 $oF 2|

(A) e BT (B) el &I
(C) ®Ive &1 (D) R=iraTT &t
“‘Determinatio negation est” — is the statement of one of the following
Philosophers ?
(A) Locke (B) Berkeley
(C) Kant (D) Spinoza

39. gYA fIvad axd &
(A) % Tt g9 A (B) &1 gar #
(C) I ==t 4 (D) fosh &1 o 1€
Hume believes in
(A) Only one Substance (B) Two Substances
(C) Three Substances (D) No Substance

40. T o3 o forv fo=falRag 5 9 &9 91 HRUT 8 2

(A) SUTGTT ®HROT (B) fHfery ®ror

15



41.

42.

43.

(C) 31k BRI (D) 3ifcdH wRoT
Which of the following cause is clay for the pot ?
(A) Material Cause (B) Efficient Cause

(C) Formal Cause (D) Final Cause

frforRaa & 9 fod foare & orgaR U aa 9 791 &1 fas g 2

(A) STl (B) fRearefra
(C) wrgafies (D) ®roe
According to which one of the following thinkers Pineal gland is the

abode of mind ?

(A) Descartes (B) Spinoza
(C) Leibnitz (D) Kant
frforRaa & foae AR, ¥ yog S=Aed 81 § ?
NG (B) errgafeies

(C) <o (D) &7

According to whom among the following, All Ideas are Innate.
(A) Locke (B) Leibnitz

(C) Descartes (D) Hume

fFrfeiRed & & @9 1 Rigra gfg @1 99 Wit &1 |d 99ar © 2

(A) sreaTeTaTe (B) gfears
(C) erg¥qara (D) 77 & BIg e

16



Which of the following theory holds reason as the source of

knowledge?
(A) Idealism (B) Rationalism
(C) Empiricism (D) None of these

44,  TgA Fe=faRead # 9 foaer @vsT axd § ?
(A) 3TcHT BT (B) s@ &1
(C) SIR & (D) SWRIad FHI BT
Hume rejects, which of the followings ?
(A) Soul (B) Substance
(C) God (D) All of the above
45.  J&l & A WRT I f6F M ¥ ST Sl 7 ?

(A) = (B) seToT
(C) Sufg (D) sxva®
The last portion of Vedas is known as
(A) Mantras (B) Brahmanas
(C) Upanishads (D) Aranyakas
46. fr=iforRed @ & @ IR dHe &1 g oxar g ?
(A) S <2 (B) =rafe wei
(C) d9iftep i (D) = =3+
Which one of the following represents Indian Logic ?

(A) Jainism (B) Charvaka Philosophy

17



47.

48.

49.

50.

(C) Vaisesika Philosophy (D) Nyaya Philosophy
FrforiRaa § | @19 |1 39 AR & G BT FHT dRal ©§ 7
(A) FRf¥e <= (B) i a¥

(C) 9t <= (D) 991 wgi

Which one of the following school supports the theory of atomism ?
(A) Vaisesika Philosophy (B) Sankhya Philosophy

(C) Buddhism (D) Jainism

FrfeiRad & 9 @19 A1 ARy g4 gEare b GHd ©§ 7

(A) ST <= (B) @rafe <=

(C) dig =2 (D) &4 & B1g &

Which one of the following systems of Indian Philosophy is supporter

of Hedonism ?
(A) Mimamsa Philosophy (B) Charvaka Philosophy
(C) Buddhism (D) None of these

fr=forRaa & | &9 argvaard g ?

w

(A) ®1oe (B) i
(C) w@rd (D) Restram
Who among the following is an Empirisist ?
(A) Kant (B) Locke

(C) Descartes (D) Spinoza

HIUC P S IR BT Hal Sirdar & 2

18



51.

52.

53.

(A) ST3HaaTs (B) gfgare

(C) w¥erare (D) 3% & BIg el
Kant's theory of knowledge is called

(A) Empiricism (B) Rationalism
(C) Criticism (D) None of these

ffed ol IR RO dd & o dd dF 8 2

(A) i (B) ®Tve

(C) =t (D) 3

Who is the author of the book ‘Critique of Pure Reason’ ?
(A) Locke (B) Kant

(C) Hegel (D) Aristotie

ON ON O\

frferRad & PiF A1 SYARTAEE @ adled ®Rd & 7

(A) T (B) sioH

(C) urTE ST (D) 2refrar

Who among the following advocates Utilitarianism ?
(A) Marx (B) Bentham

(C) Parmanides (D) Thales

oo o 9 @9 gfafafdae @ 99edis 8 ?
(A) <i® (B) gl
(C) & (D) @rve

Who among the following is the supporter of Representationism ?

19



54.

55.

56.

(A) Locke (B) Berkeley

(C) Hume (D) Kant

FfoRad % & a1 3R @ AIRA@ & oIy FAMeAd YA &I gablerd B

g7
(A) Fd T=etH (B) ga~rd
(C) wie (D) SIRrad i

Who among the following advocates the ontological argument for the

existence of God ?

(A) St. Anselm (B) Socrates

(C) Plato (D) All of the above
ARdoy & forgfag A | € °?

(A) T (B)

(C) si® (D) & 9 T T

The number of Monads of Leibnitz is

(A) One (B) Two
(C) Many (D) None of these
frefeiRad & | P19 IFxl Yebdcadra & D § ?

(A) TP (B) errgafeies

(C) Rearsm (D) FTe

Who among the following is the supporter of Abstract Monism ?

(A) Descartes (B) Leibnitiz

20



57.

58.

59.

60.

(C) Spinoza (D) Kant
f=feIRad § & B9 PRI—HR RIgrd &1 Wvsd &Rd & ?

NEEIES (B) 3=

(C) e (D) wfira

Who among the following refutes the theory of Causation ?
(A) Charvaka (B) Buddha

(C) Gotama (D) Kapila

AT & A AN BT =l QA B A1 § 2

(A) T (B) s

(C) YRR (D) wromarH

Which is the fourth step of Eightfold Path of Yoga ?

(A) Yama (B) Asana

(C) Pratyahara (D) Pranayama
RIS & AR, fFr=ferRad # & ®F 99 uaref 7 ?

(A) s (B) TToT
(C) &H (D) SWRIad T

According to vaisesika, which of the following is Bhava Padartha ?

(A) Dravya (B) Guna
(C) Karma (D) All of the above
Rrgreli qerr urTall @ frarg B €

(A) Afds wH (B) “ifcre=r &H

21



61.

62.

63.

(C) (A) va (B) g (D) 37 | PIg R
The actions of children and mad men are
(A) Moral Actions (B) Non-Moral Actions

(C) Both (A) and (B) (D) None of these

fFforRad § | I AMT—ERY &1 YUAT—RMAT & edd" | Fafdd & ?
(A) FHTSTIIRA (A) 3rfzme

(C) “ifcreme (D) s

Which one of the following is concerned with the study of goodness-
badness of human conduct ?

(A) Sociology (B) Economics

(C) Ethics (D) Psychology

dig <A H HIeT DI (B9 T | SET Sl @

(A) Fratr (B) Haea

(C) i (D) &7 ¥ P 7
In Buddhism Moksha is known as

(A) Nirvana (B) Kaivalya

(C) Mimamsa (D) None of these
HARFTEY wrea 7 AT 1f © 7

(A) M, gger= AT AT CIRIERERS!
(C) 517 e (D) 378 | BIg T2

What is the meaning of the term ‘Morality’ ?

22



64.

65.

66.

(A) Custom, Practice or Habit (B) Custom only
(C) Habit only (D) None of these
f=faRad § & 39 A1 $U7 9 7 ?

(A) e BT B
(B) Sifeeme v dgifas g &
(C) hferemes wrgfaes fagme 2

(D) e & Jee—ame g ©

Which of the following statement is correct ?

(A) Ethics is an art (B) Ethics is a theoretical science
(C) Ethics is a natural science (D) Ethics is a normative science
IeATSTS YT & HUTED B & 7

(A) drex R (B) Ta. T, <rar

(C) ®ret o] (D) 3% & BIg el

Who is the Editor of ‘Applied Ethics’ ?
(A) Peter singer (B) H. N. Dasgupta
(C) Karl Jaspers (D) None of them

fr=forRaa & @ 19 aragiRe Nfoes &1 a5 =8 © ?

(A) @t ifaeme (B) yatazofa fereme
(C) arferiferemes (D) 375 | @I 2
Which of the following is not a scope of Applied Ethics ?

(A) Professional Ethics (B) Environmental Ethics

23



67.

68.

69.

70.

(C) Metaethics (D) None of these
fF=rfeiaa 5 9 @9 Afde uwy 7 ?

(A) SR (B) srgfer

(C) g (D) SR af
Which of the following is a Ethical concept ?

(A) Right (B) Wrong

(C) Good (D) All of the above
‘P fRUET QW 7 — U8 B e § 7

(A) SR¥, T (B) wicT @1

(C) ®1vC &1 (D) et &t

“Duty is a categorical Imperative”- whose statement is this ?
(A) Aristotle (B) Plato

(C) Kant (D) Mill

QPRI B gddls DI goldl Bl SRl ©

(A) TgH & HIFaE ¥ (B) @i & gadig |
(C) (A)wd (B) <l & (D) s & PIg e
Descartes dualism is compared with

(A) Hume’s Scepticism (B) Sankhya’s Dualism

(C) Both (A) and (B) (D) None of these

AHIT B IR, SIR FT U ©

(A) ST Y™ (B) 918y U™
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71.

72.

73.

(C) aridRe uea (D) 37 | BIg 2

According to Descrates, The idea of God is

(A) Innate Ideas (B) External Ideas

(C) Internal Ideas (D) None of these

STgdferesT gRT $7R & 3IRed BT JHIOIT bRl & forg FefoRad & A &
A gfe & S © ?

(A) TAISTATHS G (B) faeesimid g

(C) (A) T (B) =i (D) 5% & dIg e

To prove the existence of God which one of the following arguments
has been given by Leibnitz ?
(A) Teleological Argument (B) Cosmological Argument

(C) Both (A) and (B) (D) None of these

"SI WLITUTS URTgH(de o 87 — I8 S fhay Hafed 2 ?
(A) w@r (B) ol &
(C) et & (D) ®Tve A

“‘Knowledge is a synthetic judgement apriori” — this statement belongs

to ?
(A) Descartes (B) Locke
(C) Mill (D) Kant

IgEhlfe BRUMER & g Fafed g

(A) 3RE] | (B) wier |
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74.

75.

76.

(C) gawvreT & (D) s & @I -7l
Theory of Fourfold causation is related to

(A) Aristotle (B) Plato

(C) Socrates (D) None of them

g9 1 g3l WIS &1 ¥ ST fear — I8 e Heed © 2

(A) d1oe | (B) et A
(C) &t (D) &7 & BIg el

‘Hume awakened me from dogmatic slumber” — this statement is

related to ?
(A) Kant (B) Hegel
(C) Locke (D) None of these

FHRUGR 99 & AR, HROT AR BRI 8 3

(A) e (B) T

(C) st (D) 5T | B e
According to theory of causation, the cause and effect are
(A) Unequal (B) Equal

(C) Proportionate (D) None of these
ARG T B PRUTGR 199 DI FIT PHET Sl & 2

(A) FbRIaTS (B) srceprefara

(C) faaiare (D) 3% & BIg el

The theory of causation of sankhya is known as -
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77.

78.

79.

(A) Satkaryavada (B) Asatkaryavada

(C) Vivartavada (D) None of these
FRUeT gggdre & HHdD B § ?

(A) e (B) gt

(C) roe (D) <fe

Who is the supporter of Absolute Idealism ?

(A) Hegel (B) Berkeley

(C) Kant (D) Locke

fFe=rfeiaa 5 9 fha R @ ST faR IR U A © 7

(A) SregreHaTe (B) Wiferaars

(C) gdars (D) 377 & F1$ T

According to which of the following theory ultimate reality is merely
ldea ?

(A) Idealism (B) Materialism

(C) Dualism (D) None of these

SR AT & R Rigr &

(A) T¥gATS (B) gqdrs

(C) #ifiiparg (D) 377 & F1$ T

The opposite theory of Epistemological Idealism is
(A) Realism (B) Dualism

(C) Materialism (D) None of these

27



80.

81.

82.

83.

fr=forRad  d—a1 R F9—3RR HdY & IRAT HIal & 7

N ESHERICIES (B) HHT=NATG

(C) yd=enfid |ArsIRIars (D) SR AT

Which one of the following theories explain mind-body relation ?
(A) Interactionism

(B) Parallelism

(C) Theory of Pre-established Harmony

(D) All of the above

"R ST W WA Bl 8 — I8 R Hafdd 8§

(A) grFaTs ¥ (B) gf&are u
(C) \#ferrare & D ERSCIERT
“Objects are independent from knower” — this thaught is related to
(A) Idealism (B) Rationalism

(C) Criticism (D) Realism

RIS a&gdTe & UbR ©

(A) fafeaTers aegare (B) 7 avgara

(C) F¥ieTcH®d aaras (D) SWRIad AT
The types of Philosophical Realism are

(A) Representative Realism (B) New Realism
(C) Critical Realism (D) All of the above

for=forRag & & o9 a1 areg § ?
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84.

85.

86.

(A) g (B) Sfera

(C) e (D) $T¥ & @I 7Tl
Which of the following is an end ?

(A) Good (B) Right

(C) Value (D) None of these

f=falRad § 9 39 A1 AHEUg T A § ?

(A) =B HH (B) Ab™ HH

(C) o (D) 5 & PIg T
Which one of the following is a means of Lokasangraha ?
(A) Niskam Karma (B) Sakam Karma

(C) Akarma (D) None of these

ON ON O\

FrferRaa @ fha <29 & TG BT SIMAT BT ol AT HHT AT & 2

(A) 9iE=g g3 (B) @If¥® g3

(C) =ma == (D) 5% & BIg T

In which of the following schools, consciousness has been accepted as
essential property of the soul ?

(A) Sankhya Philosophy (B) Vaisesika Philosophy

(C) Nyaya Philosophy (D) None of these
f=forRaa & 9 o9 91 98I va—Rigrd d favarg oxar g ?

(A) 59 g3 (B) =TI &3
(C) AT <o (D) SWrad )
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87.

88.

89.

Which of the following schools does believe in Law of Karma ?

(A) Jainism (B) Nyaya Philosophy
(C) Mimamsa Philosophy (D) All of the above
fIT & AR, el WIftq &1 a9 &

(A) ST (B) T

(C) HHART (D) SRYaa T

According to Gita, the path of Salvation is

(A) The Path of knowledge (B) The Path of Devotion
(C) The Path of Action (D) All of the above
frforRaa & | &9 ) srauRo A 29 | 991 g8 © ?

(A) FcpridTe (B) eronrare
(C) wrears (D) SHisT=arg

Which one of the following concepts is related to Sankhya Philosophy?

(A) Satkaryavada (B) Doctrine of Momentairness

(C) Syadvada (D) Anekantvada
fa=forRad § & dI9 0T & YpR B ?

(A) FfS o1 (B) fog =eor
(C) <@ T (D) STRYa
Which one of the following is a type of Rna ?

(A) Risi Rna (B) Pitri Rna

(C) Deva Rna (D) All of the above
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90.

91.

92.

93.

ST e DT 3 FAT BT & 2

(A) e arfrea (B) 3 e

(C) (A)Td (B) <l (D) & & B¢ Tel
What is the meaning of Rna ?

(A) Moral obligation (B) Economic Concept
(C) Both (A) and (B) (D) None of these
fFrefaRad # 9§ o9 FdvaRardl g ?

(A) ST (B) iR

(C) fReirom (D) wrgaf
Who among the following is a Pantheist ?

(A) Descartes (B) Shankara
(C) Spinoza (D) Leibnitz

SiF &9 favary #xar ©

(A) 9 Th T H (B) ar gaai #

(C) 31 gaai (D) s & BIg 7T
Jainism believes in

(A) Only one substance (B) Two Substances

(C) Many Substances (D) None of these
fr=forRaa # 9 fod e @& 9 4 W STET ST § 2

(A) Bftet (B) W™

(C) ®ums (D) 9N
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94.

95.

96.

Who among of the following is also known as Akspada ?
(A) Kapila (B) Gotama

(C) Kanada (D) Shankara

IIAE U U ©

(A) ST G @ (B) dig =2 @I

(C) Wi g9 &1 (D) 378 | BIg T2
Shunyavada is a school of

(A) Jainism (B) Buddhism

(C) Mimamsa Philosophy (D) None of these

ffeRad § 9 @9 A1 <3 S99 &1 U(d Wdd Ugref Al § 2

(A) =g T (B) RIf¥® 3=

(C) w2 (D) 57 & ®1g &

Which one of the following Philosophy accepts Samvaya as an
independent category ?

(A) Nyaya Philosophy (B) Vaisesika Philosophy

(C) Sankhya Philosophy (D) None of these

ffeiRed # & &9 1 & o9 93 © ?

(A) T T e | D13 |9l a8l &

(B) e vd qefemes # ?IE W 8 @
(C) <Nfcreme ud <2+ H ' Hey &

(D) e U9 SRR U N @ foRIET §

32



97.

98.

99.

Which one of the following statements is correct ?

(A) Ethics and Philosophy have no similarity

(B) Ethics and Philosophy have no differences

(C) Ethics and Philosophy have close relationship

(D) Ethics and Philosophy are opposed to each other

A AT & 3faiia AfelRad § ¥ ®IF &H & SR & ?
(A) Wfeod oA (B) sifsd o

(C) (A) Td (B) s (D) T & BIS el

Which one of the following is a type of action within Normative Ethics ?

(A) Voluntary Actions (B) Non-Voluntary Actions
(C) Both (A) and (B) (D) None of these
Freforiae & | BIF AR o1 2 87

(A) 91D il (B) 3rfeferemey

(C) @rasRe Afcreme (D) SwRra Wit

Which one of the following is the branch of Ethics ?
(A) Normative Ethics (B) Meta-Ethics
(C) Applied Ethics (D) All of the above
T Aifaeme FefaRad § 9 foaw defda g 2

(A) 71 “fifcreme | (B) srfdrfifereres &
(C) aragiRe -foemes | (D) g9 A PIg Bl

Professional Ethics is relaed to which one of the following ?
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(A) Normative Ethics (B) Meta-Ethics

(C) Applied Ethics (D) None of these
100. “IIEME AFG—3TERYl BT faemd &7 — I8 AT Fald ©

(A) 7@t (B) S/

(C) ferfer = (D) %5 ¥

“Ethics is the science of human conduct” — This statement is related to
(A) Mackenzie (B) James
(C) Lillie (D) Seth

Yug—9 / Section-B

oY I U3/ Short Answer Type Questions

TS 6T 1 9§ 30 9P o SR 3| [l 15 Ul & SR | YD b fofg 2
3 MuiRa g | ifdrdad 50 ereai # SR < | (15x2=30)

Question No. 1 to 30 are Short answer type. Answer any 15 questions. Each

question carries 2 marks. Answer in not more than 50 words.  (15x2=30)

1. Wifdedre w7 8 ? 2

What is Materialism ?

2. AT IEITAITE I 3T RIT AT © 7 2

What do you mean by Subjective Idealism ?

3. IRW P AR ATHING BRI T 8 7 2

What is formal cause according to Aristotle.

34



10.

11.

12.

13.

SIS U A Y T |HST & 7
What do you mean by Innate ldeas ?
gigare o1 gRYTT < |

Define Rationalism.

JIHAITE BT AR T & 2

What is the basis of Empiricism ?
TIATE DI TR < |

Define Realism.

Hifcremes a1 gk <

Define Ethics.

RIS I & AR U1 B IR N |

Explain Padartha according to vaisesika.

IR T P AR SUATT GHIT DI T N |
Explain comparison according to Nyaya Philosophy.
URTITIA T 8§ ?

What is Pararthanumana ?

MTH & TR TIeT Bl gRITT < |

Define Perception according to Gotama.

s FUd & w9 H W B ARAT R |
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

Explain good as an ethical concept.
frarcegare #a1 € ?

What is Determinism ?

gouTef & 39 T A & ?

What do you mean by Purushartha ?
WTGSINAT & TTAR e &1 aR¥TST < |

Define Swadharma according to Bhagavadgita ?

ShII DI gadrel i Hal Sifdl § °

Why Descartes is called a dualist ?

JTRTAIE bl ARAT BN |

Explain Anekantavada.

YR B ATAR SIR & WHY DI AR N |

Explain the nature of God according to Shankara ?

dlg <M § MEir &) Sr@auReT | oMY 9T HHSA & P

What do you mean by the concept of Nirvana in Buddhism ?

ARTST UcgeT | Y T A9 & 7

What do you mean by Intuitive Perception ?

I g9 § g ygref @ fada=r & |

Discuss Abhava Padartha in Vaisesika Philosophy ?

ATaEIR® Td URATS a1 § 3R & |

Distinguish between Empirical and Absolute Reality ?
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24,  YARATIUT AHSTRIATG B ART P | 2

Explain the theory of Pre-established harmony.

25. GHHATG & RIS @ fadaar & | 2
Discuss Law of Karma.

26. YIS ¥ 3T KT FHET & 7 2
What do you mean by Pratityasamutpada ?

27.  Af® ®H vd N oH § @7 fdR 7 ? 2

What are the differences between Moral and Non-Moral Actions ?

28. Hfdd IAUTT & WU H hag I fad=a=r &Y | 2

Discuss Duty as an ethical concept.

29, IIR & IIRAQ DI GHAIOT IR & foly fIvaqets gfad &1 fagemm | 2

Discuss cosmological argument for the existence of God.
30. uRJeia Hiftremes &= g ? 2
What is Environmental Ethics ?

" 9a9F 937 (Long Answer Type Questions)

9T G&IT 31 9 38 oY SN UBR 2| Pl 4 Ul & SR < | UhD U b

forv 5 3fw MuiRa 21 arfdewad 100 vrecl # SR T (4x5=20)

Question no. 31 to 38 are Long Answer Type. Answer any 4 questions. Each

question carries 5 marks. Answer each in not more than 100 words.(4x5=20)

31,  IGAIE & ARG AR P | 5
Explain and illustrate Sayadvada.
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32.

33.

34.

35.

36.

37.

38.

I T & ATAR TIET BT T W@HT © 2 5

What is the nature of perception according to Nyaya Philosophy ?

INT TIE B IISH—HANT BT fad=eT & | 5

Discuss the Eightfold Path of Yoga Philosophy.

A S & JTAR YN UG Uil & @R BT aui N | 5
Describe the nature of Purusha and Prakriti according to Sankhya
Philosophy.

U SRS Riga @ ©9 & gHiemEe @& & ? SA®I Uh AHIEHS
qATH BN | 5
What is Criticism as an epistemological theory. Give a critical

estimation of it.

$YR o ARG & g H Afde Jfaa &1 aui= Y | 5
Describe Moral argument for the existence of God.

R AfTeme &1 a9 T | 59 [Aueas] o1 Sooid & | 5

Define Environmental Ethics. Enumerate its subject matter.

dig = @& Tqf I @ AT N | 5

Explain the Fourth Noble truth of Buddhism.
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